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解法二：（1）
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的方程是  
[image: image63.wmf]2

2

2

2

4

)

2

(

)

(

t

t

t

y

t

x

+

=

-

+

-

…………………………………2分
令
[image: image64.wmf]0

=

x

[image: image65.png]h 22 22 BLR (ZXXK.COM)




，得
[image: image66.wmf]t

y

y

4

,

0

2

1

=

=

…………………………………………………………3分[21世纪教育网]
令
[image: image67.wmf]0

=

y

，得
[image: image68.wmf]t

x

x

2

,

0

2

1

=

=

………………………………………………[image: image69.png]h 22 22 BLR (ZXXK.COM)




…………4分

[image: image70.wmf]4

|

2

|

|

4

|

2

1

2

1

=

´

´

=

´

=

\

D

t

t

OB

OA

S

OAB

………………………………………5分
即
[image: image71.wmf]OAB

D

的面积为定值421世纪教育网
（2）
[image: image72.wmf],

,

CN

CM

ON

OM

=

=

Q


∴
[image: image73.wmf]OC

垂直平分线段
[image: image74.wmf]MN

………………………………………………………………6分
[image: image75.png]1

s L BHOCHAREy=

;= 2R, B CEMEAD, OC =5

[ Sy = 2x+4 BB = <5 -

N

BC5EL y = 2z +418XTHS

L= 20, Bl CELER(-2-1), OC =5

LT BB = 254 FBEE d = i/g

= -2x +4 TR,
—Z A REERE
CECHARAGR-2 + (-1 14 45





京翰教育网 http://www.zgjhjy.com/

_1367762924.unknown

_1367763543.unknown

_1367763929.unknown

_1367764176.unknown

_1367826285.unknown

_1367826468.unknown

_1367826575.unknown

_1367826313.unknown

_1367788577.unknown

_1367788585.unknown

_1367764199.unknown

_1367764090.unknown

_1367763653.unknown

_1367763679.unknown

_1367763612.unknown

_1367763479.unknown

_1367763508.unknown

_1367762951.unknown

_1366902791.unknown

_1367725249.unknown

_1367762782.unknown

_1367762792.unknown

_1367757895.unknown

_1367725204.unknown

_1367725231.unknown

_1367310583.unknown

_1268574802.unknown

_1268575056.unknown

_1268575148.unknown

_1268575324.unknown

_1268575435.unknown

_1268575271.unknown

_1268575099.unknown

_1268574957.unknown

_1268574993.unknown

_1268574831.unknown

_1261468688.unknown

_1261468795.unknown

_1268574724.unknown

_1261468719.unknown

_1261468589.unknown

_1261468676.unknown

_1261468465.unknown

